A new approach to the trial function for Homotopy Perturbation Method for nonlinear problems

Nalan Antar^a and Nevin Pamuk^b

^aIstanbul Technical University, Department of Mathematics, Istanbul, TURKEY ^bUniversity of Kocaeli, Kocaeli Vocational High School, Kullar, 41300, Kocaeli - TURKEY

Abstract

In this paper, we give a new approach to the trial function for Homotopy Perturbation Method (HPM) which is powerful, easy-to-use and effective approximate analytical mathematical tool. By generalizing of the trial function, we obtain better approximate series solutions for the linear or nonlinear problems, and we minimize the computational work and the time by choosing trial function properly.

Keywords: Nonlinear differential equations, homotopy perturbation method, series solutions.

1. Introduction

When we want to obtain mathematical models of physical or biological phenomena, we generally get nonlinear partial differential equations. However, to find exact solutions of these problems is difficult. In recent years, we see that there are so many mathematical methods to find approximate solutions of nonlinear problems which come from various field of science and engineering. Some of them are Perturbation Method (PM), Adomian Decomposition Method (ADM) [5], HPM [2,4,7,8,9,10,11,12], HAM [3,13,14,15,12], Variational Iteration Method [16], G'/G Method [17], Homogeneous Balance Method [18], F-expansion Method [19], Symmetry Method [20], Exp-function Method [21].

PM is one of the well-known methods which based on the existence of small/large parameters in the equation. These parameters are called perturbation quantities. Because of this restriction, PM can only be applied for weakly non-linear problems.

In ADM, we need to calculate Adomian polynomials which are difficult to obtain.

In HPM, one can obtain approximate solution even if there is no restriction on small/large physical parameters. The method contains an embedding parameter p. The application of HPM in nonlinear problems has been presented by many researchers [2,4,7,8,9,10,11,12].

HAM, originally presented by Liao in 1992, has an embedding parameters p and non-zero auxiliary parameter h which provides us with a simple way to adjust and control the radius of convergence of series solution. Later, this parameter h is called convergence-control parameter.

The main purpose of all the above methods is to find series solutions which converge to the exact solutions of the problems. Many researchers try to find which method is better than the others. There are a lot of papers which include comparison of the methods. Generally, we choose problems which have an exact solutions for testing numerical and approximate methods. Even those special exact solutions that do not have a clear physical meaning can be used as "test problems" to verify the consistency and estimate errors of various numerical, asymptotic and approximate analytical methods. In this paper, we generalize trial function to get better approximate solutions of the linear or nonlinear problems. Not only do we obtain better approximate solutions, but also we get less computational work.

2. The Homotopy Perturbation Method

The basic idea of this method is the following. We consider the nonlinear differential equation

$$A(u) - f(\mathbf{r}) = 0, \quad \mathbf{r} \in \Omega \tag{1}$$

with boundary conditions

$$B(u,\frac{\partial u}{\partial n}) = 0, \quad \mathbf{r} \in \Gamma$$

where A is a general differential operator, B is a boundary operator, $f(\mathbf{r})$ is a known analytic function. Γ is the boundary of the domain Ω . In general, A can be written in two parts which are linear operator L, and nonlinear operator N. Therefore, Eq.(1) can be written as follows

$$L(u) + N(u) - f(\mathbf{r}) = 0.$$

According to the homotopy technique, we can construct a homotopy $\Phi(\mathbf{r},t;p)$: $\Omega \times [0,1] \to \mathbf{R}$ which satisfies

$$H(\Phi, p) = (1 - p)[L(\Phi) - L(u_0)] + p[A(\Phi) - f(\mathbf{r})] = 0$$

where $p \in [0, 1]$ is an embedding parameter, $\mathbf{r} \in \Omega$, u_0 is an initial condition of Eq.(1), $\Phi(\mathbf{r}, t; p)$ is an unknown function. We can write this homotopic equation as follows

$$H(\Phi, p) = L(\Phi) - L(u_0) + pL(u_0) + p[N(\Phi) - f(\mathbf{r})] = 0$$

It is easy to see that this homotopy satisfies following initial conditions,

$$H(\Phi, 0) = L(\Phi) - L(u_0) = 0$$

$$H(\Phi, 1) = A(\Phi) - f(\mathbf{r}) = 0.$$

The changing process of p from zero to unity is just that of $\Phi(\mathbf{r}, t; p)$ from $u_0(\mathbf{r}, t)$ to $u(\mathbf{r}, t)$. Expanding $\Phi(\mathbf{r}, t; p)$ in taylor series with respect to the p, we can write

$$\Phi(\mathbf{r},t;p) = u_0(\mathbf{r},t) + pu_1(\mathbf{r},t) + p^2 u_2(\mathbf{r},t) + \cdots, \qquad (2)$$

when p = 1 this infinite series gives us the series solution of the problem.

$$u(\mathbf{r},t) = \lim_{p \to 1} \Phi(\mathbf{r},t;p) = u_0(\mathbf{r},t) + u_1(\mathbf{r},t) + u_2(\mathbf{r},t) + \cdots,$$
(3)

Let trial function be $u_0(x,t) = P_0(t)g(x)$ which satisfies the following condition,

$$u_0(x,0) = u(x,0) = P_0(0)g(x)$$

where g(x) is the initial condition and $P_0(0) = 1$ when t = 0.

3. Applications

Example 1 : Let's consider the special case of evolution equation

$$\frac{\partial u}{\partial t} + \frac{\partial u}{\partial x} = 2 \frac{\partial^3 u}{\partial x^2 \partial t}, \quad -\infty < x < \infty, \quad t > 0$$

with initial condition

$$u(x,0) = \exp(-x).$$

We construct a homotopic equation by using He's method

$$(1-p)[L(\Phi) - L(u_0)] + p[A(\Phi) - f(\mathbf{r})] = 0$$
(4)

where L is a linear operator,

$$L(\Phi) = \frac{\partial \Phi}{\partial t} \tag{5}$$

and A is a whole linear operator,

$$A(\Phi) = \frac{\partial \Phi}{\partial t} + \frac{\partial \Phi}{\partial x} - 2\frac{\partial^3 \Phi}{\partial x^2 \partial t}$$
(6)

and u_0 is a trial function such that

$$u_0(x,t) = P_0(t) \exp(-x), \quad P_0(0) = 1.$$
 (7)

If we substitute Eq.(5), Eq.(6) and Eq.(7) into Eq.(4), then we obtain the following homotopic equation

$$\frac{\partial \Phi}{\partial t} - P_0'(t) \exp(-x) = p \left(2 \frac{\partial^3 \Phi}{\partial x^2 \partial t} - \frac{\partial \Phi}{\partial x} - P_0'(t) \exp(-x) \right).$$
(8)

If p = 0, then above equation satisfies trial function. If p = 1, then the above equation is just as original differential equation. Substituting Eq.(2) into Eq.(8) and equating coefficients of p, we obtain the following differential equations,

$$p^{0} : \left\{ \frac{\partial u_{0}}{\partial t} - P_{0}'(t) \exp(-x) = 0, \quad u_{0}(x,0) = \exp(-x) \right\}$$

$$p^{1} : \left\{ \frac{\partial u_{1}}{\partial t} = 2 \frac{\partial^{3} u_{0}}{\partial x^{2} \partial t} - \frac{\partial u_{0}}{\partial x} - P_{0}'(t) \exp(-x), \quad u_{1}(x,0) = 0 \right\}$$

$$p^{2} : \left\{ \frac{\partial u_{2}}{\partial t} = 2 \frac{\partial^{3} u_{1}}{\partial x^{2} \partial t} - \frac{\partial u_{1}}{\partial x}, \quad u_{2}(x,0) = 0 \right\}$$

$$\vdots$$

$$p^{n} : \left\{ \frac{\partial u_{n}}{\partial t} = 2 \frac{\partial^{3} u_{n-1}}{\partial x^{2} \partial t} - \frac{\partial u_{n-1}}{\partial x}, \quad u_{n}(x,0) = 0 \right\}$$

If we solve above equations for unknowns u_n 's, we obtain

$$\begin{aligned} u_0(x,t) &= P_0(t) \exp(-x) \\ u_1(x,t) &= [P_0(t) - 1 + \int P_0(t)dt] \exp(-x) = P_1(t) \exp(-x) \\ u_2(x,t) &= [2P_1(t) + \int P_1(t)dt] \exp(-x) = P_2(t) \exp(-x) \\ u_3(x,t) &= [2P_2(t) + \int P_2(t)dt] \exp(-x) = P_3(t) \exp(-x) \\ &\vdots \\ u_n(x,t) &= [2P_{n-1}(t) + \int P_{n-1}(t)dt] \exp(-x) = P_n(t) \exp(-x), \quad n > 1 \end{aligned}$$

Therefore series solution can be written in the following

$$u(x,t) = [P_0(t) + P_1(t) + P_2(t) + P_3(t) + \dots] \exp(-x).$$

As we see that once we compute u_1 , we can get the other terms of the series solution without computing equations. This gives us less computational work and time. Let's give some examples for $P_0(t)$. If $P_0(t) = 1$, then terms of the series solution of the problem is the following

$$u_{0}(x,t) = \exp(-x)$$

$$u_{1}(x,t) = t \exp(-x)$$

$$u_{2}(x,t) = \left(\frac{t^{2}}{2} + 2t\right) \exp(-x)$$

$$u_{3}(x,t) = \left(\frac{t^{3}}{3!} + 2t^{2} + 4t\right) \exp(-x)$$

$$u_{4}(x,t) = \left(\frac{t^{4}}{24} + t^{3} + 6t^{2} + 8t\right) \exp(-x)$$

$$u_{5}(x,t) = \left(\frac{t^{5}}{120} + \frac{t^{4}}{3} + 4t^{3} + 16t^{2} + 16t\right) \exp(-x)$$

$$\vdots$$

Having u_n for n = 0, 1, 2, 3, 4, 5, the solution u(x, t) is

$$u(x,t) = \sum_{n=0}^{5} u_n = \left(\frac{t^5}{120} + \frac{t^4}{3} + 5t^3 + \frac{49t^2}{2} + 31t + 1\right) \exp(-x).$$
(9)

If $P_0(t) = t + 1$, then we obtain the terms of the series solution of the problem

$$u_{0}(x,t) = (t+1)\exp(-x)$$

$$u_{1}(x,t) = (\frac{t^{2}}{2}+2t)\exp(-x)$$

$$u_{2}(x,t) = (\frac{t^{3}}{3!}+2t^{2}+4t)\exp(-x)$$

$$u_{3}(x,t) = (\frac{t^{4}}{24}+t^{3}+6t^{2}+8t)\exp(-x)$$

$$u_{4}(x,t) = (\frac{t^{5}}{120}+\frac{t^{4}}{3}+4t^{3}+16t^{2}+16t)\exp(-x)$$

$$\vdots$$

Computing u_n for n = 0, 1, 2, 3, 4, the solution u(x, t) is same as Eq.(9). If $P_0(t) = \frac{t^2}{2} + 3t + 1$, then terms of the series solution of the problem is the following

$$u_{0}(x,t) = \left(\frac{t^{2}}{2} + 3t + 1\right) \exp(-x)$$

$$u_{1}(x,t) = \left(\frac{t^{3}}{3!} + 2t^{2} + 4t\right) \exp(-x)$$

$$u_{2}(x,t) = \left(\frac{t^{4}}{24} + t^{3} + 6t^{2} + 8t\right) \exp(-x)$$

$$u_{3}(x,t) = \left(\frac{t^{5}}{120} + \frac{t^{4}}{3} + 4t^{3} + 16t^{2} + 16t\right) \exp(-x).$$

$$\vdots$$

Computing u_n for n = 0, 1, 2, 3, the solution u(x, t) is same as Eq.(9). As we see that if we choose $P_0(t)$ properly, we obtain the series solution of the problem in three iteration.

Example 2 : We consider the following problem

$$\frac{\partial u}{\partial t} + 2\frac{\partial^4 u}{\partial x^4} = \frac{\partial^3 u}{\partial x^2 \partial t}, \quad -\infty < x < \infty, \quad t > 0$$

with initial condition

$$u(x,0) = \sin x.$$

By same manipulating as we have done above, we obtain the following homotopic equation. Let trial function be $u_0(x,t) = P_0(t) \sin x$ where $P_0(0) = 1$.

$$\frac{\partial \Phi}{\partial t} - P_0'(t)\sin x = p\left(\frac{\partial^3 \Phi}{\partial x^2 \partial t} - 2\frac{\partial^4 \Phi}{\partial x^4} - P_0'(t)\sin x\right).$$
(10)

Substituting Eq.(2) into Eq.(10) and equating coefficients of p,

$$p^{0} : \left\{ \frac{\partial u_{0}}{\partial t} - P_{0}'(t) \sin x = 0, \quad u_{0}(x,0) = \sin x, \right.$$

$$p^{1} : \left\{ \frac{\partial u_{1}}{\partial t} = \frac{\partial^{3} u_{0}}{\partial x^{2} \partial t} - 2 \frac{\partial^{4} u_{0}}{\partial x^{4}} - P_{0}'(t) \sin x, \quad u_{1}(x,0) = 0, \right.$$

$$p^{2} : \left\{ \frac{\partial u_{2}}{\partial t} = \frac{\partial^{3} u_{1}}{\partial x^{2} \partial t} - 2 \frac{\partial^{4} u_{1}}{\partial x^{4}}, \quad u_{2}(x,0) = 0, \right.$$

$$\vdots$$

$$p^{n} : \left\{ \frac{\partial u_{n}}{\partial t} = \frac{\partial^{3} u_{n-1}}{\partial x^{2} \partial t} - 2 \frac{\partial^{4} u_{n-1}}{\partial x^{4}}, \quad u_{n}(x,0) = 0. \right.$$

If we solve above equations for unknowns u_n 's, we obtain the terms of the series solution

$$\begin{aligned} u_0(x,t) &= P_0(t)\sin x \\ u_1(x,t) &= -2[P_0(t) - 1 + \int P_0(t)dt]\sin x = P_1(t)\sin x \\ u_2(x,t) &= -[P_1(t) + 2\int P_1(t)dt]\sin x = P_2(t)\sin x \\ u_3(x,t) &= -[P_2(t) + 2\int P_2(t)dt]\sin x = P_3(t)\sin x \\ &\vdots \\ u_n(x,t) &= -[P_{n-1}(t) + 2\int P_{n-1}(t)dt]\sin x = P_n(t)\sin x, \quad n > 1. \end{aligned}$$

Therefore series solution can be written in the following

$$u(x,t) = [P_0(t) + P_1(t) + P_2(t) + P_3(t) + \dots] \sin x.$$

As we mentioned above, once we compute u_1 , we can find the other terms of the series solution by using u_2 , u_3 , u_4 ,... directly. Let's give some examples for $P_0(t)$.

If $P_0(t) = 1$, then terms of the series solution of the problem is the following

$$\begin{aligned} u_0(x,t) &= \sin x \\ u_1(x,t) &= -2t \sin x \\ u_2(x,t) &= (2t^2 + 2t) \sin x \\ u_3(x,t) &= -(\frac{4t^3}{3} + 4t^2 + 2t) \sin x \\ u_4(x,t) &= (\frac{2t^4}{3} + 4t^3 + 6t^2 + 2t) \sin x \\ u_5(x,t) &= -(\frac{4t^5}{15} + \frac{8t^4}{3} + 8t^3 + 8t^2 + 2t) \sin x \\ u_6(x,t) &= (\frac{4t^6}{45} + \frac{4t^5}{3} + \frac{20t^4}{3} + \frac{40t^3}{3} + 10t^2 + 2t) \sin x. \\ \vdots \end{aligned}$$

Having u_n for n = 0, 1, 2, 3, 4, 5, 6, the solution u(x, t) is

$$u(x,t) = \sum_{n=0}^{6} u_n = \left(\frac{4t^6}{45} + \frac{4t^5}{3} + \frac{14t^4}{3} + 8t^3 + 6t^2\right)\sin x.$$
 (11)

If $P_0(t) = 1 - 2t$, then we obtain

$$u_{0}(x,t) = (1-2t)\sin x$$

$$u_{1}(x,t) = (2t^{2}+2t)\sin x$$

$$u_{2}(x,t) = -(\frac{4t^{3}}{3}+4t^{2}+2t)\sin x$$

$$u_{3}(x,t) = (\frac{2t^{4}}{3}+4t^{3}+6t^{2}+2t)\sin x$$

$$u_{4}(x,t) = -(\frac{4t^{5}}{15}+\frac{8t^{4}}{3}+8t^{3}+8t^{2}+2t)\sin x$$

$$u_{5}(x,t) = (\frac{4t^{6}}{45}+\frac{4t^{5}}{3}+\frac{20t^{4}}{3}+\frac{40t^{3}}{3}+10t^{2}+2t)\sin x.$$

:

Computing u_n for n = 0, 1, 2, 3, 4, 5, the solution u(x, t) is same as Eq.(11).

If $P_0(t) = 1 + 2t^2$, then the series solution of the problem is the following

$$u_0(x,t) = (1+2t^2) \sin x$$

$$u_1(x,t) = -(\frac{4t^3}{3} + 4t^2 + 2t) \sin x$$

$$u_2(x,t) = (\frac{2t^4}{3} + 4t^3 + 6t^2 + 2t) \sin x$$

$$u_3(x,t) = -(\frac{4t^5}{15} + \frac{8t^4}{3} + 8t^3 + 8t^2 + 2t) \sin x$$

$$u_4(x,t) = (\frac{4t^6}{45} + \frac{4t^5}{3} + \frac{20t^4}{3} + \frac{40t^3}{3} + 10t^2 + 2t) \sin x.$$

$$\vdots$$

Having u_n for n = 0, 1, 2, 3, 4, the solution u(x, t) is same as Eq.(11).

If
$$P_0(t) = (\frac{-4t^3}{3} - 2t^2 - 2t + 1)$$
, then the series solution of the problem is the following

$$u_0(x,t) = \left(\frac{-4t^3}{3} - 2t^2 - 2t + 1\right) \sin x$$

$$u_1(x,t) = \left(\frac{2t^4}{3} + 4t^3 + 6t^2 + 2t\right) \sin x$$

$$u_{2}(x,t) = -\left(\frac{4t^{5}}{15} + \frac{8t^{4}}{3} + 8t^{3} + 8t^{2} + 2t\right)\sin x$$

$$u_{3}(x,t) = \left(\frac{4t^{6}}{45} + \frac{4t^{5}}{3} + \frac{20t^{4}}{3} + \frac{40t^{3}}{3} + 10t^{2} + 2t\right)\sin x.$$

:

Having u_n for n = 0, 1, 2, 3, the solution u(x, t) is same as Eq.(11). As we see that if we choose $P_0(t)$ properly, we obtain the series solution of the problem in three iteration.

Example 3 : We consider the cauchy problem for porous medium equation with a source term, which is a simple model for a nonlinear heat propagation in reactive medium

$$\frac{\partial u}{\partial t} = a \frac{\partial}{\partial x} \left(u^{-2} \frac{\partial u}{\partial x} \right) + bu \tag{12}$$

with the initial condition $u(x,0) = x^{-1}$. Exact solution of Eq.(12) is given as $u(x,t) = x^{-1} \exp(bt)$ [6]. Let trial function be $u_0(x,t) = P_0(t)x^{-1}$ where $P_0(0) = 1$. By using He's method, the homotopic equation is following

$$\frac{\partial \Phi}{\partial t} - P_0'(t)x^{-1} = p \left[a \frac{\partial}{\partial x} \left(\Phi^{-2} \frac{\partial \Phi}{\partial x} \right) + b \Phi - P_0'(t)x^{-1} \right].$$
(13)

Substituting Eq.(2) into Eq.(13) and equating coefficients of p, we get the following

$$p^{0} : \left\{ \frac{\partial u_{0}}{\partial t} - P_{0}'(t)x^{-1} = 0, \quad u_{0}(x,0) = x^{-1} \right\}$$

$$p^{1} : \left\{ \frac{\partial u_{1}}{\partial t} = a\frac{\partial}{\partial x} \left(u_{0}^{-2}\frac{\partial u_{0}}{\partial x} \right) + bu_{0} - P_{0}'(t)x^{-1}, \quad u_{1}(x,0) = 0 \right\}$$

$$p^{2} : \left\{ \frac{\partial u_{2}}{\partial t} = a\frac{\partial}{\partial x} \left(-2u_{1}u_{0}^{-3}\frac{\partial u_{0}}{\partial x} + u_{0}^{-2}\frac{\partial u_{1}}{\partial x} \right) + bu_{1}, \quad u_{2}(x,0) = 0 \right\}$$

$$p^{3} : \left\{ \frac{\partial u_{3}}{\partial t} = a\frac{\partial}{\partial x} \left(-2u_{0}^{-3}u_{2}\frac{\partial u_{0}}{\partial x} - 2u_{0}^{-3}u_{1}\frac{\partial u_{1}}{\partial x} + u_{0}^{-2}\frac{\partial u_{2}}{\partial x} + 3u_{0}^{-4}u_{1}^{2}\frac{\partial u_{0}}{\partial x} \right) + bu_{2} \right\}$$

$$\vdots$$

If we solve above equations for unknowns u_n 's, we obtain

$$u_0(x,t) = x^{-1}P_0(t)$$

$$u_1(x,t) = x^{-1}[-P_0(t) + 1 + b\int P_0(t)dt] = x^{-1}P_1(t)$$

$$u_2(x,t) = x^{-1}\int P_1(t)dt = x^{-1}P_2(t)$$

$$u_3(x,t) = x^{-1}\int P_2(t)dt = x^{-1}P_3(t)$$

:
$$u_n(x,t) = x^{-1} \int P_{n-1}(t) dt = x^{-1} P_n(t)$$

Therefore series solution can be written in the following

$$u(x,t) = [P_0(t) + P_1(t) + P_2(t) + P_3(t) + \dots] x^{-1}.$$

As we mentioned above, once we compute u_1 , we can find the other terms of the series solution by using u_2 , u_3 , u_4 ,... directly. Let's give some examples for $P_0(t)$.

If $P_0(t) = 1$, then terms of the series solution of the problem is $u_0(x,t) = x^{-1}$, $u_1(x,t) = btx^{-1} u_2(x,t) = \frac{bt^2}{2}x^{-1}$, $u_3(x,t) = \frac{bt^3}{6}x^{-1}$, $u_4(x,t) = \frac{bt^4}{24}x^{-1}$, $u_5(x,t) = \frac{bt^5}{120}x^{-1}$...

If $P_0(t) = 1 + bt$, then terms of the series solution of the problem is $u_0(x,t) = (1+bt)x^{-1}$, $u_1(x,t) = \frac{bt^2}{2}x^{-1}$, $u_2(x,t) = \frac{bt^3}{6}x^{-1}$, $u_3(x,t) = \frac{bt^4}{24}x^{-1}$, $u_4(x,t) = \frac{bt^5}{120}x^{-1}$...

If $P_0(t) = 1 + bt + \frac{bt^2}{2}$, then terms of the series solution of the problem is $u_0(x,t) = (1 + bt + \frac{bt^2}{2})x^{-1}$, $u_1(x,t) = \frac{bt^3}{6}x^{-1}$, $u_2(x,t) = \frac{bt^4}{24}x^{-1}$, $u_3(x,t) = \frac{bt^5}{120}x^{-1}$... As we see that if we choose $P_0(t)$ properly, we obtain the series solution of the problem in three iteration. On the other hand, we obtain exact solution of the nonlinear problem, which is $u(x,t) = u_0 + u_1 + u_2 + \ldots = x^{-1} \exp(bt)$

Conclusion

As we see from above examples, we obtain better approximation by choosing $P_0(t)$ properly. In this way, we minimize the computational work and the time. Once we compute u_1 , it is easy to find the other terms of the series solution of the problem without computing to the series equations. In addition to, we obtain better approximate solution of the problem no matter they are linear or nonlinear.

References

[1] C.Jin, M.Liu, A new modification of Adomian decomposition method for solving a kind of evolution equation, Applied Math.and Comp., 169(2005)953-962.

[2] J.H.He, Homotopy perturbation technique, Comput.Methods Appl. Mech.Engrg 178(1999) 257-262.

[3] S.J.Liao, The proposed homotopy analysis technique for the solution of nonlinear problems, Ph.D thesis, Shanghai Jiao tong University, (1992)

[4] J.H.He, Homotopy perturbation method. A new nonlinear analytical Technique, Appl.Math.Comp. 135(2003)73-79.

[5] N.Pamuk, Series Solution for Porous Medium Equation with a Source Term by Adomian's Decomposition Method, Appl. Math.Comput.178(2006)480-485.

[6] A.D. Polyanin, V.F Zaitsev, Handbook of Nonlinear Partial Differential Equations, Chapman and Hall/CRC Press, Boca Raton, (2004)

[7] C. Gui and X. Kang, Localization for a Porous Medium type Equation in high dimensions, Transactions of the American mathematical society 356(2004)4273-4285.

[8] S.Pamuk, N.Pamuk, He's Homotopy Perturbation Method for continuous population models for single and interacting species, Comp. and Math. with applications 59(2010)612-621.

[9] J.H. He, Homotopy Perturbation Method for Solving Boundary Value Problems, Physics Letters A 350(2006) 87-88.

[10] J.H.He, Recent devolopment of the Homotopy perturbation method, Topological methods in nonlinear analysis, 31(2008)205-209.

[11] J.H.He, New interpretation of Homotopy perturbation method, International journal of modern physics B, 20(18)(2006)2561-2568.

[12] J.H.He, Application of Homotopy perturbation method to nonlinear wave equations, Chaos solitons and fractals, 26(2005) 695-700.

[13] Abbasbandy S, The application of Homotopy analysis method to nonlinear equations arising in heat transfer, Physics lett.A,360(2006) 109-13.

[14] Liao SJ, On the Homotopy analysis method for nonlinear problems, Appl. math.comp., 147(2004)499-513.

[15] Liao SJ, Numerically solving nonlinear problems by Homotopy analysis method, Comput.mech., 20(1997)530-40.

[16] DD Ganji, Application of Homotopy perturbation and Variational iteration methods to nonlinear heat transfer and porous media equations, Journal of Comp. and appl. math., 207(2007)24-34.

[17] M.Wang, X. Li and J Zhang, Phys.lett.A, (2008)372-417.

[18] M.L. Wang, Physics Lett.A, (1996)213-219.

[19] Z. Yubn, W. Mngliang and W. Yueming, Phys. lett. A, (2003)308-31.

[20] M.H.M. Moussa and R.M. El Shikh, Physica A, (2006)371,325.

[21] J.H.He and X.H.Wu, Chaos solitons and fractals, 30(2008)700.

[22] J.H.He, Comparison of Homotopy perturbation method and homotopy analysis method, Applied Math. and comp.,156(2004) 527-539.

[23] J.H.He, An elementary introduction to the homotopy perturbation method, Comp. and Math. with Appl., 57(2009)410-412.

[24] S.Liang, D.J.Jeffrey, Comparison of homotopy analysis method and homotopy perturbation method through an evaluation equation, Commn nonlinear sci. numer. simulat., 14(2009)4057-4064.